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3L. E. Reichld A Modern Course in Statistical Physics, Wiley,New York, 1998, p.514
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Ho = Hume = —JZSz‘ Z <Sy’>+§JZ Z (Si) (S;)
? J ? J
1

gbbbuoooobbboooobbboooobobbuoobbbooogn
obobboobooboon

Y a— Z Z eﬁheff(51+32+'--+51v)€f%,@Nsz2
S1==%1 Sy==%1

_ SO eS| L[ 3T gPhensy o~ 3BNzJm?
S1==%1 Sny==1
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00000000000 (self-consistency equation) D 00000
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OAr=000000000000
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zN/2
Ho' =] Y SPsy (4.72)
(i.9)

gbbbuoooobbbooobboboooobbbuooobn

o; = S, o;=—S%, J' =—J(>0) (4.73)

J

gboooogn

. zN/2 zN/2
HOAF:J/ZO'i<—O'j>:—J/ZO'iO'j (474)
(o (4.4)
doooddoooooooooobooooooboooog J>o0 S]BDD
0000000000000 0 J<0OOODOOOOD0DOOO0O00oDO AOO
O0BOODODODOOOOOOOOOOOO (antiferro magnetism) 0000000
gdooooooouoooooon

2 2
A A
mt = (NP - NE), o mP = (NP - NE). (4.75)
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D000000O000O0oDOoOmA=mP=mO00000000000000
Oo0Od0O0Om=000m#000000000000C0O0

1
Ty = —z|J] (4.76)
ks

O000000000000D0000000000 (Nee)OOODODOODOO
gbbbuooobbbuogobobbuoooobbbuooobbbodao

gobboooobbbooobooboboooobobuoooobboooon

gboboboogobboogoobobad

[0oo0]
00000000000000000000000000000000000
00000 (lattice gas model) 10 0000000000000 000000
0+000000000000000000000000000 00000
00000 =10000000n,=000000000000000000
0000000000000000000 —¢(<0)00000000000
000000000000000000

(:4)
gboboboobooboobgooboobobboboobooboobon
00000 (0000000000000 00ooooooooooo)Mo0o
oboboobodabod

gboboboooobbbooooboboooobbobuoobobbooogn
gbboodbbogboogbbooouobbuooobooobboobboab
gboboboobooboobgooboobobboboobooboobon
00 (000000000)0D00000ooooooooooooooooo
gbobboooobobbbuoooobbobooooboboobbobooogn
oboooobooboobooboobo20b0o0b0o0obobobobbon
gbo-ogoobbbooobbobooooboboboo

goooooouooooboobbbbbbbibodoooooououooon
—uNOODOODOOoo

H=—¢> nmnj,—py n; (4.79)
(4,) i

U0poOoOo0O0000000000000000000000000D0000000000
gboooOobooooobooooobooboooon
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ooooboobobobobobobobooo NODbOobooooboboo
gboboboooobboboooobon

1+5;
2

gboboobobobobuooooboboooobbbooooobobobooogn
00(480)00n,000000000000O S;0000

N
:——ZSS zd) +E) vy - B (4.81)
T3)2 2
gotooouoobogouoooooooooouooboooon
¢ 2
=2 h=22.1 4.8
J 1 1 T3 (4.82)

goboboooobbboooobbobooooboo
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gooooodgn

[0 00 (Gauss) 00|

o0 2 T
T dr =\ — 4.83
/—ooe * a ( )
o 2 1 s
2e7 0y = — | — 4.84
/_oox c v 2a V a ( )

oood
TeT W dr = ——/— 4.85
[mI € X 2nan a ( )
[0 00000 (Stirling) 00 0]
n>10
Inn!~nln = (4.86)

goboboogoooboo

nl ~ 2wn(")n(1+-+~-) (4.87)

[0oDo00]
0000 .
(z)= [ ¢ letdt (4.88)

nO0OO000000o0ao

I'(n+1)=n! (4.89)
1 (2n)!
lxn+§):2%mv% (4.90)
[O0DO0000]
7T.d/2 i ( )
Vi(R) = ——=——R 4.91
(d/2)T'(d/2)
[30000000000O0O)
gVm?/? 1/2
[DO000oooo]
orh? \ "/’ h
A= () o2 (4.93)
kaT \/QkaBT
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OO0D00DO000000000 Sommerfeld OO0

/_ ‘: Fle) (-%?) de = F(u) +2 i Cop (kT)? dQ;;ff) (40
000 f(e) = 1/[exp{(e — p)/ksT} + 1]
o = = (;n) /O - :x:__lda; (4.95)
= (1=2"")¢(2n) (4.96)
Riemann OO O OOO0O
((m) = 2 T}n (4.97)
(4940000000
[T FE) ) = Flu) + T (TP F/ () + oo (ko T) F () + -4.98)
O00F(e)=¢(e) 000
| 0@ = [ oe)de + f(mww T (B T) 6" (1) + -(4.99)
godoooooooooooa
00 1’”_1 ) zk:
A ) > 4 = T0(2) (4.100)

¢(1)=((r)000000000000000000000000

() - @)= @)= wm
(2) = 7;2 = 1.645, C(4) = g; — 1.082, ¢(6) = 97;65 = 1.017,

g@) = 2612, g(;) = 1.341, ¢(3) = 1.202,

¢ (;) = 1.127, ¢(5) = 1.037. (4.102)
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